Blast (Model 38104-1) Parts List

Parts shown in bold are optional accessories. Part categories and individual part listings are arranged alphabetically. Prices are shown in US Dollars.

Decals & Accessories Radio System, Batteries & Chargers

1926
1726
3814X
3544

3828
3829
3827
3822
1529
3834
1529X

3820
3840
3535
1531

1539
3875

Antenna caps, vinyl (2)/ antenna SPOOL..........c.cceerveerireeniieenieennns
Antenna, tube (1)/ vinyl antenna cap (1)/ wire retainer (1)...
Blast decal set (waterproof)

Boat STANG ....o.oiiiiiiiii
Driveline Components
Driveshaft coupler U-JOINt...........ccoouriiiiiiiie e $4.00
Driveshaft/ stuffing tube/bushings (self-lubricating) (2) $4.50
Motor drive cup/ set screw ...  $5.00
Motor heat sink (finned aluminum)........c.ccccoviiiiiieniicciiicn $4.00
Outdrive housing/ propeller shaft/bushings (self-lubricating) (2)..... $3.00
PrOPEIIET ...t $7.00
Propeller shaft (1), for 3/16" ID propellers/ drive dog (1)/ 4.0
GS (1)/ 4x8mmTW (2)/ 4.0 NL (1). .oovervennes .. $7.50
Radio/ motor mounting tray ..... $8.50
Rubber grommet for driveshaft (stuffing) tube (2). $2.50
Shaft, propeller $2.00
Trim adjustment bracket (inner)/trim adjustment bracket
(outer)/trim adjustment lever/ 3x16mm shoulder screw/2.6x 10mm
self-tapping screws (4)/convex and concave trim lever
washers/4x21mm double shoulder screw/brass washers/ nuts .. $5.00
U- joints (2)/ 3mm set screws (4).... $5.00
Water cooling system . $14.00

1547
2734
3840
1540
3965
2577
2576
1541
1548
1551
1549

3821
3924

3815
3811
3840
1540
3925

Hardware

Bushings, self-lubricating (10) (marine drive system) $3.00
Cable ties (small) (10) $2.00
Rubber grommet for driveshaft (stuffing) tube (2). $2.50
Rubber grommets for steering rod (2) $3.00
Screws, 2.5x8mm cap-head machine (6) $2.50
Screws, 3x10mm button-head machine (hex drive) (6) . $2.50
Screws, 3x8mm button-head machine (hex drive) (6) ... $2.50
Servo rod connectors (2)/ 3mm set SCrews ...........cc...... $5.00
Set (grub) screws, 3x4mm (8)/ 4x4mm (stainless) (4) $2.00
Tool set $5.00
Washers, PTFE-coated 4x6x.5mm. $2.00

Hull, Deck & Attachments

Battery COMPAartment..........ccoovvierieriee e $4.50
Box, receiver (sealed)/ foam pad/ silicone grease/2.5x8mm BCS

(2)/ 3x10mm CCS (2)/ 3x15mm CCS (2). . $12.00
Foam battery securing block ...................... $2.25
Hull & lower deck assembly with foam flotation.... . $50.00
Rubber grommet for driveshaft (stuffing) tube (2) $2.50
Rubber grommets for steering rod (2) . $3.00
Seal kit, receiver box (includes o-ring, seals, and silicone grease) $4.00

3813X Uiier deck/ uiier hook/ 3x8mm washerhead machine screw ili . $16.00

3899X

3822

1275

3010X
3550
2074
2053
2056
3875

1529
3834
1529X

3840
3535
3825

1531

1539

owner's manual, BIASt ...........c...coouiiiiiiiiiiiiiiieeiieeiie e $5.00
Motors & Electronics
Motor heat sink (finned aluminum) .........cccoocoiiiiiinicnicie, $4.00

Motor, Stinger (20-turn, 540 size)

Nautica Electronic Speed Control (forward only, waterproof) ..
Pick-up, water/ turn fin/ mounting hardware $8.00
Servo case/gaskets (for 2056 and 2075 waterproof servos) $6.00

Servo gears (for 2055, 2056 servos)
Servo, high-torque, waterproof (blue case) ...
Water cooling

Prop & Outdrive Components

Outdrive housing/ propeller shaft/bushings (self-lubricating) (2)..... $3.00
PrOPEIIET ... $7.00
Propeller shaft (1), for 3/16" ID propellers/ drive dog (1)/ 4.0

GS (1)/ 4x8mmTW (2)/ 4.0 NL (1). (2 sets req. for Villain EX)..... $7.50
Rubber grommet for driveshaft (stuffing) tube (2).........cccceevvervennn. $2.50
Shaft, PrOPEIIET......c..eveeeieeeieee ettt $2.00
Steering rod/ plastic rod end/ chrome threaded ball & nut/ servo

horn... $5.00
Trim adjustment bracket (inner)/trim adjustment bracket

(outer)/trim adjustment lever/ 3x16mm shoulder screw/2.6x 10mm
self-tapping screws (4)/convex and concave trim lever

washers/4x21mm double shoulder screw/brass washers/ nuts...... $5.00
U- joints (2)/ 3MM St SCrEWS (4).....coiviiriiriireiieiieesee e $5.00

For assistance, call 1-888-TRAXXAS, or e-mail Traxxas anytime at support@Traxxas.com

2976 AC to DC converter, 40W .......cccueeiiiiiiiiieei e $32.00
2938 Adapter, Traxxas iD Lipo Battery (Connects Traxxas iD

batteries to LiPo chargers with separate balance ports)........... $12.00
6548 Battery door, TQ 2.4 transmitter (replacement for #6516, 6517

transmitters) .
2922X Battery, Power Cell, 3000mAh (NiMH, 6-C flat, 7.2V).. $34.99
2942X Battery, Series 3 Power Cell, 3300mAh (NiMH, 6-C flat, 7.2V)... $39.99
2952X Battery, Series 4 Power Cell, 4200mAh (NiMH, 6-C flat, 7.2V)... $59.99
2975 Charger, DC, 4 amp (6 - 7 cell, 7.2 - 8.4 volt, NIMH) .........cc...cc..e. $32.00
2972 Charger, EZ-Peak Dual, 100W, NiMH/LiPo with iD Auto

Battery Identification...........ccoooeiieiieiieeeee e $130.00
2970 Charger, EZ-Peak Plus, 4 amp, NiMH/LiPo with iD Auto

Battery Identification
2978 Fuse, charger, 5A (2) (for #2974, 2975, 2977)
6519 Receiver, micro, TQ 2.4GHz (3-channel)
2056  Servo, high-torque, waterproof (blue case)...
6509R TQi 2.4 GHz High Output radio system, 2-channel, Traxxas

Link enabled, TSM (2-ch transmitter, 5-ch micro receiver) ....... $135.00
6507R TQi 2.4 GHz High Output radio system, 4-channel with

Traxxas Link Wireless Module, TSM (4-ch transmitter, 5-ch

micro receiver) .
6516 Transmitter, TQ 2.4GHz, 2-channel (transmitter only) . $60.00
6511 Traxxas Link Wireless Module ..o, $45.00

Ready-To-Race Model

38104-1 Blast: High Performance Race Boat with TQ 2.4GHz radio
system...

Team Traxxas ltems

2514 Decal sheet, raCing SPONSOIS ...cccueeiiiiiiiiieeiieeniie e $3.00
9950 Official Team Traxxas racing decal set (flag logo/ 6-color)....... $4.50
9909 Traxxas racing banner, red & black (3x7 feet)........ccccevvriiinene $15.00

If you have questions or need technical assistance, call Traxxas at:
1-888-TRAXXAS
(1-888-872-9927) (U.S. residents only)

For orders, calls outside the U.S., and other information, call 972-549-3000,
or fax to 972-549-3011 e-mail Traxxas at support@Traxxas.com

TRAXXAS.com

REV. 160714 1510



